Practice Test )

\. (A) They should visit their family.
(B) They should take a nap.
(C) They should get something to eat.
(D) They shouldn't do more without getting some help.
Y. (A) She was unhappy about the story.
(B) She did not see the story.
(C) She was sad about her role in the story.
(D) She had no feelings about the story.
Y. (A) He has a better idea.
(B) He'd prefer to listen to music.
(C) He doesn't like the sound of it.
(D) He thinks her idea is good.
s. (A) Leaves covered the campus pathways.
(B) A lot of trees fell on campus.
(C) It was easy to get lost on the campus paths.
(D) The falling leaves had been removed from the paths.
0. (A) She doesn't want to tell the man who it is.
(B) She doesn't know who Brandon is.
(C) She couldn't hear what Brandon said.
(D) She is too far away to identify the person.
1. (A) It may be the day after tomorrow.
(B) It's not in two days.
(C) It's not in history class.
(D) She thinks it's today.
V. (A) Long reports may not be handwritten.
(B) Their professor will only accept typewritten reports.
(C) Handwritten reports must be legible.
(D) The reports must be typed in the lab.
A. (A) There's no more paper.
(B) The printer is broken.
(C) They need to write a few more pages.
(D) The store is closed.
q. (A) That the man had not gone to the library.
(B) That the man did not have the book.
(C) That the library was closed.
(D) That the man had the book.
) +.(A) The student newspaper.
(B) A computer.
(C) A computer table.
(D) A used printer.
Y\).(A) The color of the sweater.
(B) The weather.



(C) The condition of the campus.
(D) The direction the man is going.
\Y.(A) He didn't have time for it.
(B) He wanted it tremendously.
(C) He will try it once more.
(D) He didn't want it very much.
\Y.(A) She thinks math is easy.
(B) She doesn’t have her calculator with her.
(C) She doesn’t own a calculator.
(D) She can do calculations more easily than the man.
V£.(A) He disagrees with the woman.
(B) He never used to go to the library.
(C) He'’s not unhappy about the library hours.
(D) He has the same opinion as the woman.
Y0.(A) The registrar closed the class.
(B) There were not enough students in the class.
(C) They are both registered in the same class.
(D) The class project will no longer be a team project.
171.(A) She didn't ask him for a ride.
(B) He isn't going to give her a ride.
(C) She doesn’t want to ride with him.
(D) He will give her a ride since she asked for one.

\V.(A) He's leaving school this semester.

(B) He would have done better with more effort.
(C) He's already turned in the physics grades.
(D) He's changed a lot.

YA.(A) Neither of them had five dollars to spend.
(B) She didn't find anything, but her friend did.
(C) They both came home empty-handed.

(D) She and Joan found lots of bargains.

14.(A) He came to the bookstore to get it.

(B) He unexpectedly found it at the bookstore.
(C) He will get one for the woman.
(D) He found it across the street.

Y-+.(A) The woman needs to count the pages in her paper.
(B) The professor will probably not accept a late paper.
(C) Extensions are never given by this professor.

(D) It would be a good idea to turn the paper in early.

Y).(A) Working in a garden.

(B) Putting groceries away.
(C) Arranging flowers.
(D) Caring for some animals.

YY.(A) Jim didn't enjoy the outing.
(B) Jim doesn't like tea.



(C) It was a surprise that Jim had a good time.
(D) She didn't think that Jim was back yet.
YY.(A) Look for the missing money.
(B) Investigate the problem with his pay.
(C) Get the paycheck back from the man.
(D) Look inside a pay envelope.
Y<.(A) He could have been better prepared.
(B) It was harder than usual.
(C) He studied as hard as he could.
(D) He wishes it hadn’t been such a hard test.
Yo.(A) He isn't interested because it costs too much.
(B) He is impressed because it will last for a lifetime.
(C) It probably isn't as good as it says it is.
(D) He doesn't think the paint is any good.
Y1.(A) Extending the paper.
(B) Asking the professor for assistance in preparing the paper.
(C) Turning the paper in anyway.
(D) Asking if it’s possible to turn the paper in late.
YV.(A) That she didn't need to read Chapter 1.
(B) That Chapter 1 was required reading.
(C) That she only needed to read Chapter 1.
(D) That Chapters o and V were not required.
YA.(A) The program is very difficult to complete.
(B) She is trying hard to swim in the stream.
(C) She'd like to take a break and go for a swim.
(D) Sometimes she’d like to scream about the program.
Ya.(A) Everyone was late to the orientation.
(B) No one could find the correct location.
(C) Only Carl got lost.
(D) Almost everyone was disoriented.
Y +.(A) She thinks he is the best candidate.
(B) There are others more capable than he.
(C) She is sorry he is running for student body president.
(D) There aren’t any other people capable of doing the job.



